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The domain of the function f(v)=Sin""| log, L;:J +17x=x% =16 is
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If'f :[Liee) = [0.e0) is given by f£(x)= ;.;_%, then'f—l(x) =
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If the greatest divisor of 30.5*" +4.2°"is p V n € N and that of 2**'—6n—2isqVne N,
thenp+qg=
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If a. b. ¢ are real numbers such that « — b= 1. b— ¢ = 3. then the number of matrices of the

L i 3
foom A=| @ b ¢ |suchthat|A]=-12.15
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For what values of ‘a’. the system of equations x +y+z=1. 2x + 3y + 2z =2,
ax + ay +2az = 4 will have a unique solution?

‘@’ Boo¥), X Aeodesy, x+y+z=12x+3y+22=2 ax+ay+2az =4 &3 JdEderw
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If - is a complex number such that |: + 4| > 3. then the smallest value of ‘: + 3‘ 1S

o DI |:+4| >3 edlgtotnrm el H08Y dopg wowd, ‘:+3‘ Bog), Y Do
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The real part of a = that satisfies iz* +1=0 is

izt +1=0 S SPHBT 2.8 z B, TR THO
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-2(.1:2+2x—]1]

If x 1s real. then the interval in which no value of the expression = lies. 1s
2 i
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The set of all real values of x 2‘@1@ the inequalities x* —4x+ 3 >0 and x> —2x— 8 <0,
15

¥ —4x+3 >0 500050 ¥ —2x — 8 <0 &3 wddosdaroi SR553 x AwE) o) TS
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If the roots . B. ¥ of the equation x* — 6x” + px + 10 = 0 are in arithmetic progression,
then o + B+ 7y’ =

X —6x" +px+ 10 =0 o3 $D08800 Bwg), Sareren o, f. Yoo @0FEss” o8, SRy
o+ B3+ 7y = q
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a. f. y are the roots of the cubic equation x* +p x> +px+p, =0.If S = o’ + ™+ 7",
S,;= 10, S,= 38 and S;=-1840. then p, =

& B yeos ¥ +px +px+p, =003 2o d8no Bwg, Srwren. S =a’ + BT+ 7
S,;= 10, S,= 38 556052 S,=—1840 wond, eiyd p,=
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The number of 4 letter permutations formed with En% %habet such that the number
of distinct vowels 1s equal to the number of distinct ¢ ants, when repetition 1s allowed.
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A student 1s asked to answer 10 out of 13 questions in an examination such that he must
answer atleast four questions from the first five questions. The number of choices available
to him 1s
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If the 17% and the 18 terms in 1691)31151011 of 2 +a)> are equal. then the coefficient of
¥ in the expansion of (a + xY L '

2 +a)’ Bwg) bt 175 $o8asn 18 S Hrren BIrER08, (a +1)~ BwE) IHEns’
e Boog), oego

Options:
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. . (3 LY : .
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If the angles of depression of 5@ and bottom of a short building from the top of a tall
building are 30° and 60° resp cly. then the ratio of the heights of short and tall buildings
1s
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If A+ B + C=m. then sinA — sinB + sinC =

A+B+C=neowid, sinA —sinB +sinC =

Options:
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For n € Z . the general solution of the nignuﬁ@en'ic equation

Siﬂr—ﬁmswr45iu2x—4«f§c052x4@_x—ﬁeoﬁx=0 18

nel 8, Sinx—v"gcosr+45in@Y~4@c052x+5ﬂ13x—\/§c053x =0 &3
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For a > 0, if f(x) = ax + b is an onto function form [-1. 1] to [0. 2]. then

cot Tau_ll+Tﬂn_ll+Tan_ll .
7 P 5

a>0% flx)=ax + b3 [-1. 1] Ssod [0, 2] & fo Soiil Haocida,

cot Tall_ll+Tﬂll_ll+THH_ll -
7 8 5
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The solution of the equation 2cosh2x+10sink2x =5 is

2¢0sh2x+10sinh2x =5 o3 Hioédoo FBooE), FES

Options:
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Question Number : 26 Question Id : 7512364506 Question Typ&Optim Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Ver&

In a triangle ABC. if a* — b* — c@?{l‘ — 2% —1), then

2§ @ahzo ABCE, a° —A@? =be(X’ —2h— 1) wond, vbyd

Options:
0<A<A4
1.
—-1<A<2
2.
—-1<A<3
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If @ and b respectively represent the lengths of a side and a diagonal of a regular pentagon

p_— ; i . b
that 1s inscribed in a circle. then — =
1
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In a right angled triangle. if the difference between the two acute angles is 60°, then the
ratio of the lengths of the hypotenuse and the perpendicular drawn to the hypotenuse from
its opposite vertex is

w8 vows’n @0, Tol vinsare Bho 60° wowd, EdhHn EH HOWEL T
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If the position vectors of the points A, B. C. D givenﬂssf, T+2]+3k,2i — ] +2k.
e - — | = . o= ="
—[T"r' +15) +15k] and l[?r‘ +2j +(5+ 35::},3{] : Sg;llflwely are such that ‘AC‘ = ‘BDL
4 3 R

then 16(3a — 1)* = C)Q/
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If the points 2@ +3b —¢, @—2b +3¢. 3a + Ab —2¢ and @—6b + 67 are coplanar. then

the direction cosines of the vector A7 —217 +k are

20+43b—-C.a-2b4+3C.3a+Ab —2C 506050 T—6b +6C =3 Dodrgen
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If L, 1s a line through the point 57+ 87 +11k and parallel to the vector 27+ 37 +4k and

L, is a line through the point 47+ 67 + 8k and parallel to the vector T4 47 + 5k , then
the point of intersection of L, and L, is

5T+87 +11k oF Dot Kom Fér, 27 +3] +4k ©F 5848 Sdroddor God T

L, 508050 47 + 67 +8F ©F Do foom Fér, 37 +47 +5k &3 56¥% Ssrossom
€08 O ngm&@, L, 080 Lo podd Hothd

Options:
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a=47 + 37 and b are two vectors in the XOY plane and @ is perpendicular to b . Avector
¢ lying in the same plane and having projections 1 and 2 respectively on 7 and b is
XOY-$00&" a=47 +37 %0005 b o Bok $870s 50605 7 & b wovor
&otnod. ©d Svos® Gobor, a., b o 380 1, 2 oo wow JFFesr ¥OAS w8 D6 s
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Question Number : 33 Question Id : 7512364513 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
If OA=6i +3j —4k . OB=2j +k . OC =57 —j +2k are the coterminous edges of a
parallelopiped. then the height of the parallelopiped drawn from the vertex A is
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The shortest distance between the lines 7 = (—2? +7 - IF) + r( 27 +37 - JF] and

.F:(?—I+2f?)+k[—?+2f+4f?) is

F (2T + 7 —F)+ (27 +37 —F) 00050 7 = (7 = 7+ 2F ) + k(=T + 27 + 4F) &3
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The mean deviation from the median of the data 16. 22. 3. 14. 5. 10. 8. 6. 11. 4 1s

16,22, 3,14. 5,10, 8, 6, 11, 4 3 Sa2078 DFghido o DG dfodo

Options:
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The variance of the following frequency distribution is
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If two events E,. E, are such that P(E; UE,) = % P(E,)==.P(E,)= % then E, and

3
Ty
E2 are

- B () =l@-cﬁogm@ €08,

E,. E, &3 B0k s, P(EUE,)= :

ey B S08c50 E e

Options:
mdependent events
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If a die 1s rolled twice and the sum of the numbers appearing on them is observed to be 6.
then the probability that the number 1 appears atleast once on them is

28 PN Tododrd &, T8 EY oW dopgw Jwdgo 6 ™ KOO, TR EAdo
28IV dopg 1 EAY 0T Soardyd
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Question Number : 39 Question Id : 7512364519 Question Type:
Single Line Question Option : No Option Orientation : VerticalC)
es. 2.000 post-graduates and 1.000 doctorate

':.H|I—l.

An examination is attempted by 5.000 gr
holders. The probabilities that a gradu% post graduate and a doctorate holder will pass

s & | —
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The probability distribution of a discrete random yarigble X 1s given below.

If E(X?) =) *P(X=x)_then6EX? - )ar(X) =

2.8 Dy ?;"r\ Miﬁgwé Seovrd X Bwg). S IgE” DeTe 2203500 1Bod = "E;&Ef}&

E(X?) =D xP(X=x) woys, ¥y 6 EX?) - Var(X) =

X =x -1 0 1 2

P (X =1) 1 1 i i
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If X 1s a Poisson variable representing number of sus%sses in 50 trials such that
2P(X=1)=5P(X=35) + 2P(X = 3) then the pmbahil@ getting success in one trial is

50 chenes® achdne dopgin Srdod o) é\ﬁﬂ?% X 58
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1
Let lim(1+ 5t)' =K and X be the random variable representing number of succusses in

t—0

100 independent trials. If the probability of success in each trial 1s 0.05. then the probability

of getting at least one success is
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If the origin 1s shifted to a point (A. k) by translation of axes in order to make the equation

x* 450y +2y7 +5x+6y+7 =0 free from first order terms. then

5y +297 +5x+6y+7=0 dDo8dmo $008 JdHrd STed BHhom Iohads
;oD Y8 SSr08d wEH0SES oo (4 k) S¢8 $88,

Options:
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Suppose a line makes an angle of 120° with ﬂ%'twe direction of X-axis. If the length
of the perpendicular from origin to that l'meC) en the equation of the line 1s

o8 300 X-wgy $3648" 120° F'e %ﬁﬁm&-ﬂﬁ’{l SoroDodod) dood & s o
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Two straight lines are drawn through the point (0, 2) such that the length of the
perpendiculars from the point (4. 4) to these lines are each equal to 2 units. The equation
of the line jomning the feet of these perpendiculars is

(0,2) Dodry o Bodk J8E0po, (4.4) DodhY S0k & Tposs o wozre FEHen
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Options:
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Question Number : 46 Question |d : 7512364526 Qg{n Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Two points A (—a. 0) and B ( ﬂ:’&y’il‘ﬂ given. If C is a variable point lying on one side of the
line AB such that |CAB — |CBA = & . where « is a positive constant. then. locus of the
point C 1s

A (—a.0) 308050 B (a. 0) @8 Bod DodHod Ty, AB3ps o8 38 ) C oo
28 $908 Do [CAB—|CBA =0, a&s Joossn, odbhsbinm wol, C Bug,
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Options:
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Question Number : 47 Question Id : 7512364527 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If the angle between the pair of lines x* + Z\E:qr +ky* =0, k>0 is 45°, then the area
(in square units) of the triangle formed by the pair of b@mrs of angles between the

given lines and the line x+2y+1=01s Q'\,
x+ 2\/5:{}-‘4—}(_1-’2 =0, k> 0 &3 dgrainiiyo So5fRevo 45° wond, & dve gl Sere
HSoByPotS Sgrasnryo HoBck0 x + 2y + b PO JHE Babuo Tw, FTogie
(56865 Sord&sS*) @
Options: ?‘
; o’
3
1_ A
1
2
2
3
3.
2
4
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If d 1s the distance between the point of intersection of the lines
> +4xy+k” —4x— 10y + 3 =0 and the origin and p is the product of the
perpendicular distances from the origin to these lines. then @* — 20p* =

deods X +4xy+ kb —4r — 10y + 3 = 0390 podsd HokrHE 805w Sare Do
HoPgie Srddn Dol p ed8 Srododd Hod & Tpol o voadrTe ordw
wond, d°—20p” =

4
. Q,@
2 ‘v

4 @Q
Question Number : 49 Question Id : 75123 Z@estion Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Cfrieatation : Vertical

A line meets the coordinate axes at A and B. If the perpendicular distances from A and B
to the tangent drawn at the origin to the circumcircle of AOAB are m and » respectively.
then the diameter of that circle is

w8 Oy AdrdTTod Adboin Bo O§ poddod ©daidn OAB GwE) H85)E08
Soredotnyg) 3§ Hdd H)Yopts Adon Bo S00b o vowdororey SHOSm m Sedoko n
BONB, &5 Sy8o GIg), Togdhw

Options:
m++n
2




-E(HH-H)

4
2
m-+n
3
2(m+n)
4

Question Number : 50 Question Id : 7512364530 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The centre of the circle passing through the point (0. 1) and touching the curve y =x~ at
(2.4)1s

(0. 1) Doty homdrsr, (2.4) 5§ y=x" 55 SHRes Hgo Bws), Soo

Options:
16 53
5710
1
3 =
[ 373
2.
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If the number of common tangents to the pair of circles x* + 1* — 2x + 4y -4 = 0 and
x*+17 +4x — 4y + o= 0 is 4 then the least integral value of o is

Xyt =+ 4y —4=0508050 17 +y” +4x — 4y + 0= 0 5)8 o508 Ko &5d
ﬁgﬁﬁ;gaﬂ Ddowg 4 wond, adhos), 8AY ool dend

Options:
4
1.
5
z.
6 O.)
’ ¢
7 A
4. Q/
Question Number : 52 Question Id : 7512364532 Question :MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : ti
The equation of a circle of radius 5 Qytouc]mlg another circle x* +3* —2x—4y—20=0

at (5.5) 1s
9

5 oSy argrdom EOA, 4P -2 — Ay —20=0 03 2655
S)gs0 G, HAEYE0

(5. 5) 3¢ dpzod

Options:

X +37+ 18x+ 16y —220=0

X+ —x—y—40=0

X4y + 20 -3y -45=0



¥ +3yP—18x—16v+120=0

Question Number : 53 Question Id : 7512364533 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The equation of a circle concentric with the circle x* +1* — 6x + 12y + 15 = 0 and having
area that 1s twice the area of the given circle 1s

x +37 —6x + 12y + 15 = 0 5808 Jgdoor wobar, 88 58 ITergd8 Bodose

EF&“&:SS’JQJ EOho ;'}E\}j_x"f' DabEdemo

Options:

X+ —6x+12y—15=0

P+ —6x+12y—-30=0

X+ —6x+12y-60=0 @
3 J
Z+yP—6x+12p+15 wﬁ?

Question Number : 54 Question Id : 7512364534 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If the locus of a point which divides a chord with slope 2 of the parabola y* = 4x. internally
in the ratio 1:3 is a parabola. then its vertex is

2 =4x 50500578 2 FTreom Ko ¥ gl 1:300)8S° woddorr podod Hodo) B,
roi:an}cﬁ;&w w8 Hordeoin @od, Tt 3PN

Options:

2.1)



s
ot [

m 2
12 | 2
™

=z,
22
4716
=,
(&3
16 4
4.

Question Number : 55 Question Id : 7512364535 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If the normal at one end of the latus rectum of the par %J*E = 16x meets the X-axis at
the point P. then the length of the chord passing gh P and perpendicular to the

norimal is &

V> = 16x Ho-Secido BwE), TPOoN @E‘Eﬁé’}é Hod edoowdy Xosd) PS5
po& R, Pomdrdr o edooudpid ﬂ&

&
482 &@

™ OB &g D
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Assertion (A) : If the tangent and normal to the ellipse 9x* + 167" = 144 at the point

P[?J on it meet the major axis in Q and R respectively. then QR =%
J

"9 7

o =

Reason (R):  If the tangent and normal to the ellipse 1—2+';'—2=1 at the point
ol

P(8) on it meet the major axis in Q and R respectively. then
a*sin® @ —b* cos® 6“

acost ‘

QR=

QP BEB0 (A) 1 9% + 167 = 144 8 $y8500% P[%J DoY) BG hds HYGPBp So00sw

sHeoudpen HHdT T Eﬁo‘;ﬁ“ﬁ:}_ Q&&DQR o3 Do H§ $O7,
P

edydo QR =§ (19\'

N 2

L X .]'" g il W= il o il o -
somo (R): 4+ 5=l 8¢SdsnD P(@oﬁi&q_} 58 A3 $380w Bodao
wHooudpen HdHT T Q) Q&odoin Red DodhHo 3¢ R,
' Bois 25 2
et QR:G Smﬂv‘;cos 6
Qéﬂs

9

The correct answer is Ia’aa@oé ORI PR o)

Options:

Both (A) and (R) are true and (R) 1s the correct explanation of (A).
. (A) S08cdn (R)en Bodr S&gbmen So8asn (A) S (R) £98 wond J&8:.

Both (A) and (R) are true but (R) 1s not the correct explanation of (A).
(A) 500080 (R) o0 Bodrr Sdghwen H00ain (A) % (R) $0 wond ddde 2.

(A) is true but (R) 1s false. / (A) d€g500 5°Q (R) edesgao.



(A) 1s false but (R) 15 true. / (A) ed85k0 570 (R) g0

Question Number : 57 Question Id : 7512364537 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
If x +y+n=0.n>0is a normal to the ellipse x¥* + 317 =3 and x + my +3=0.m<0isa
. 7 . . g 5 4 1
tangent to the ellipse x™ + 5y~ = 5. then the point of intersection of these two lines satisfy
the equation

X+ 3y" =3 &G DyTR8 A o whoowdp x+y+n=0.n> 05000 ¥ +5°=5

—0

Options: q
i_ﬁzl Q\'
, 84 25 q,

Question Number : 58 Question Id : 7512364538 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The product of lengths of the perpendiculars from any point of the hyperbola x> —3*> =8 to
its asymptotes 1s

%y =gl ©8HTH0CBHND BT Do ood T wod NGHOpw s HdS wondve
DEJo 0o

Options:



1.
"
3
2
,_1_
3.
8
4

Question Number : 59 Question Id : 7512364539 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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- -
2 2

If a triangle ABC with two vertices A(5. 4, 6) and B(1.—). 3 Nzas its centroid at [ 10 AR E} A

then the third vertex C is

A(5. 4, 6) S0803n B(1, -1, 3) 08 Bod eyt fo @shads ABC Goo¥), So@ardhn

[? 7 {—IJ @008, Jordd 3ddn C
Options:

4,2, 3)
1

(=4.=3.7)
i

(4. 3.2)
3

3 0 R |
i (2.4.3)
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Let ABC be a triangle with A (o, 5. ). B (2. 1. 6) and C (1. 0. —3) as its vertices. If the
median through B is equally inclined to the coordinate axes. then a + f§ =

A(a.5.B).B(=2.1.6) 506050 C (1.0.-3) en 3Tent Ko @zhadn ABC edssomr i,
Boo A8 S0ggidson AErdsges Sdodforo Tn, at =

Options:
10
1
12
2.

14 O
3. Q\'
16 &q/
‘ &
@,

Question Number : 61 Question Id : 7512364541 Question *MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : tI

; , e ; 6
The equation of the plane in C%S n form, which is at a distance of ﬁ from the

origin and its normal vector drawn from the origin being 27 —3; + 4k . is

6 s 5
HSoredong ok E Srdoes® Gotor, 2i —3j+4k S Sarododd) dod AdS

eo2ahdEm e dad BwE), DHE8 50 ?gﬁoﬁaﬁ ErHHaest

Options:
2x—3y+4z=6
1
2x+3y—4z=

z.



2x—3y+4z=6

2x+ 3y +4z=—

Question Number : 62 Question Id : 7512364542 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

1
. Sin /i2x ) 2
hmil—=— -

x—0 21‘

Options:

0

L | =

e

|

e

|

e
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: } for x<0

[1—-‘:05 2x
a A .-
X

If the function /: R— R defined by f(x)=1b for x=0

Jx
VA+/x =2

. B x>0

is continuous atx=0.thena+ b=

'

b,

1—cos2x

3

).xr::[lé:
%

x=08& m Jdtdodnsd Hwdohin [ R—- R «36 x=0:5¢

Jx . X085 q

Wa+yx -2 (S?V

N )B0 wowd, a+b= /&(1/

Options:

2

&
N
&
&
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it gEl= Cosh"l(:—xj is well defined. then f x) =
X

Fide) = CDE‘-h_l[t—x) SHonBeom ao:gﬂé@__oa fr(:r) =
x

Options:

-1

(1+x)v—x

1
(1+x)V/x O
| o
- V
s &
(1+x)vx Q
: N
: &«
) (14 x)y=x &@
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Match the items of List - I with those of List - II

List-1 List-11
A IEy= 2| th =) & ) 2
) ¥ =|x|+[x—2| then, atx=2. e )
B) If f(x)= |cos 2x|then f {%+} = m o
C) If f(x)=sinx|x] where [x] is the iy =2

greatest integer function. then £ (1-)

: . 4 1
D) If f(:r}:lcsg‘x—l‘. x#1 then f [5}

IV) does not exist

O

erdar -] S0 worTeod e -[IS vorod® @Pcisos.
erdae - 1 (l/ erder- 11

A

- dy
A)  y=lx]+x—2 wod x=25¢ zg(/ n 2
B) f(x)=|cos2xeons f’[ﬂ & m 0

C) 'f(x):sinfr [x]. [x] & /@faa an -2

FTos HRchin wand, [ (1

D) f(x)=loglx—1], x#1 eox8, f [%} IV) $552850 5760

The correct matching 1s

=8 sons &

Options:

A B C D
I 1A I III



o voom I i
A B € B
. I W d
A B € D
. I 3 I I

Question Number : 66 Question Id : 7512364546 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

fﬁ .nﬁr . d*x
If —=4 and ——=-3 at a point P on the curve y = f{x), then ~| =
dx dx~ dv* .
b _, &y _ d’x)
y=f(x) 23 SBow Pud Qoo 58 ——=A,500050 ——=-3 wond, ol
- & 5 dy A2 " )p
Options:
0
1
-3
4
53
3
16
3
3
64
4
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The approximate value of Tan™(0.999) (upto 4 decimal places) is

Tan™(0.999) Bo¥), eeponod) Des (4 Swof Tore H55)

Options:

0.7852

0.7102

0.8124

0.7526
. N
QY

Question Number : 68 Question Id : 7512364548 Question Type: MCQ{ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If the normal to the curve y=f{x) at (1. 2) m@% angle = ‘% with positive X-axis. then

f)= x
v =£x) 5598 (1. 2) mm@é@ﬁm cDooudn &8 Xegsns' 37 sarg) B,
f=

Options:

0
1.

1
Z.

2
=3

3



Question Number : 69 Question Id : 7512364549 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The number of real roots of the equation ¢ +logx+x—2=0, x# 0. is

e +logx+x—-2=0, x # 0 3208508 Ho T5S Sarere bowy

Opti({)]ns:
1
2
] Q\O/_)
3 V
O

Question Number : 70 Question Id : 7512364550 Question MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Ver

Letf:D>R.DSR.ceD and@ non zero real number. Consider the following
statements:

1. c1san extreme point Gf& ¢ 1s an extreme point of #f

ii. cisan extreme point of f = ¢ is an extreme point of r + f

f:D—>R.D S R.ce DHodokn 1 #3588 505 dopy ©ofos. §od PHHSTol
&H080d.
1. cCOI .fcﬁaoézr w8 @odghotuy) = ¢ TR Ifcfmég_r w8 wodsdond

. co938 .fo_tiaaézr w8 wodgdotod) = ¢ 38 1+ fBng), o8 vodgdodod

Which of the following 1s correct?

& 80B TAS* B DeSgH0

Options:



Only (1) 1s true

(i) S S&g

Only (i1) 1s true
(i) SorEsB> BesgH00

Both (1) and (11) are true
(i) $o8as0 (i) @0 Bode HégHven

Neither (1) nor (i1) 1s true q
(1) So8 080 (1) wo Bodr DégHwen 57 Q'X'

4, &(1/

Question Number : 71 Question Id : 7512364551 Question Typ&Optim Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Ver&
dx

J(l+x}\/8+?x—x2 ) Q/v
&

Options:
2 [8—x
—— +c
ON1+x
1.
I [1+x
—— +c
9V8—x



2 (1+x

—_ +c
OV8—x
2y
2 |8+x
— +c
O¥V1l+x
4
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J
J‘:r :”Td':r:
Y +4
Options:
| 2 [+ +4)
—| Tan™ L—JH{JgL J +c
2 2 2
1,
i
1 Tan ELT +-\|+(’
2 2x
2,
1 _II/.TE\ ( T4+4\|
—| Tan L_J_IUEL J +c
2 2 & 4
=




Question Number : 73 Question Id : 7512364553 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

x+1
J—_ g =
x(l+x€3‘)
Options:
| 1 +xe*
log——+¢
x+1
1
xe'
log——|+¢
14+ xe*
oy
X
v+1)e
log { )x +c
l+¢e
3.
X
xe
log——|+c
x+e
4

Question Number : 74 Question Id : 7512364554 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

JSECS x dx=

Options:

1 3 5 3
i secxtan” x+ 2 secxtan x+ Z[IDg secx 4+ tanx)+c



1 5 ...
—tan’ xsecx+—secxtanx+ glog( secx +tanx)+c

>
- 3 3
—sec” xtan ¥+ =sec x tan x +—log(sec x + tan x) + ¢
4 g 4

3
1 - 3
—secxtan” x+—secyfany +—log(secx+ tanx)+c
4 2 P

4
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Single Line Question Option : No Option Orientation : Vertical

T

2 9
j cot” xdx=

y: 4

4

Options:




1
—+2log?2
24 2

Question Number : 76 Question Id : 7512364556 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Let f{x) be an even function with period 2 and f(x) be integrable on every mterval. If

e

glx)= J‘f(?‘)ffi‘. then g(x +2) =

0

F() 636 $8 w0886 HirEodaRBn H00050 flx) 36 2-e58550m Ko 58 HPocHBD

0

Options: &(1/

g(x) g(2)
QQ/

- S

2 @
e

wSomsn. g(x)= }f(r)dr wond, gx+2)= ,\O,.)
Q

gx)
g(2)

Question Number : 77 Question Id : 7512364557 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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1
Let [x] be greatest imnteger function. Then J [r + 2[1’ +2 [r]ﬂ dy =
R

1
[x] K85 Srpos BHocisn edFod. @y J‘[x+2|:x+2[x]ﬂ dx =
=i

Options:

10 @

Question Number : 78 Question Id : 751236%23 uestion Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Ori tion : Vertical

If k and ] respectively are the order and degree of the differential equation whose general
solution represents the family of circles of constant radius, then k* + /% =

R0 rgargdniio B)d Srtwnoer) BrR0B Daoideo rrde FEST o el HdoEdaSn
o), HOSTeaSn B805N BSHSIen SEHM kodosn [ewwnd, K+ 17 =

Options:

2



10
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dy .
The solution of the differential equation ! A cos(y—x)cot(y—x) is

dx
dy . 4
?:l—cos(_*t'—x)cut(}-'—:r) @S50S HECRD0 DB, FED
X
Options:

xtan(y—x)=c

B
x=tan(y—x)+c¢
24
x=58ec{y—xjtc
3

x+sec(y—x)=c

Question Number : 80 Question Id : 7512364560 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

: i : . : v 7
The general solution of the differential equation (ysinx+ ])T —cos x=0
dx

dv
(ysinx+y )d——ms x=0 os8os $Ess0n Bl TPl FES
X



Options:

2
)

y =x—-Ccosx+tc

y=1+tsmx+e

z.
') a
y=2z—-2mxte
=
y*=2x+2cosx+c
4.
Display Number Panel: Yes (l/
Group All Questions: NQ//&
Question Number : 81 Question Id : 7512364561 QuestignLype: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientations:

Albert Emstein was cm]fen'/e@h the Nobel Prize in physics for his work on:

s\§ DauIs & §ob OToER) (@EFHoVIoGE TBES afvdrdo bodod.
Options:
Special theory of relativity

A2 T g dFodo

Bose-Einstein statistics
eﬁﬁﬁ-mﬁ%ﬁ Kool f@am



Photoelectric effect
PS® DBogS HOSB

General relativity

e FHES
4.

Question Number : 82 Question Id : 7512364562 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A quantity z. to be estimated has a dependency on the variables a. b and ¢ as z = ab’c™.

-

The percentage of error in the measurement of a. b and ¢ are respectively 2.1%. 1.3% and
2.2%. The percentage of error in the measurement of - would then be

Do woia ESdS o8 z e3H WETBoe a. hBBasw QQL: ab’c > STE5%808.

a. b 58050 ¢ © Pods® Sarssn $85m 2.1%. hﬁ@mam 2.2% wond z oS’

o8 &'AFTdo,
Options: Q@/&

5.6% @
1.
1.6% @v
2.
e

1.0%

9.1%
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The nature of graph drawn for a freely falling body with time on the x-axis and speed on
the y-axis 1s (Assuming initial speed to be zero)

500 X-280 0, 56 y-w8o 26 oo, O (508 DB DHEL HS (T TBoog),
Brarddw, (89 & D) e edHFd)

Options:
a straight line with positive y-axis intercept.

ET8)8 V-080 ©08:poding” &&) wf 0¥ T

a straight line passing through origin.

SxreDothdP S0 3§ $6¢ B \'O_)
’ QO

a parabola. &(1/

. w8 Dordedio Q/
| @

a straight line parallel to y-axis Wigk positive X-axis intercept.

ST E)8 X80 ©0&:poddd W), V-oFds ddrodionr e w8 $8¢ b

4 &

Question Number : 84 Question Id : 7512364564 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A particle A moves along the line y = 30 m with a constant velocity ¥ parallel to x-axis.
At the moment particle A passes the y-axis. a particle B starts from origin with zero initial

speed and a constant acceleration & =0.40 m/sec”. The angle between & and y-axis is

60°. If particles A and B collide after sometime, then the value of |i?’| will be

X-oFA8 dErosdor R6BMo V & Ip ¥ =30 mIow o Smo AF308. §mo A,
J-oma) Tt §mo 58, @) §O 38, 3¢ dismo =040 m/sec’ & 55 §mo B
HroDokY 00 FdoFoHHos. @ S 00w Yerds S Feo 60°, Fodseo
S50 gemen A $:8080 B 8508, [7] Dess,



Options:

2 m/s

3m's
4 mv/s

5m/s

Question Number : 85 Question Id : 7512364565 Question Type: MCQ Option Sh : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical '»

th
Aball moves one-fourth [i ] ofacircle of radius R it T. Let v, and v, be magnitudes

A

of mean speed and mean velocity vector. Th@)g/g will be
X

E...Eféﬁ—qﬁ"e_uﬁ%g/ i}fw oo TS a8 wo8 faodyod. St 5&

V.
$8050 DKt B ST HBSrEred V, 20050 V, o808, —L IS,
Va

TgFrgo Rio 389

Options:

T
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A4 kg object has a velocity (3.{}5" ] ny's at some mstant. Eight seconds later. 1ts velocity 1s

[8.05 +1{}.D}) m/s. Assuming that the object is subjected to a constant net force. the

O
QY

§ 4Kkg S09% w58 g0 5 o Tdo (3.05)}{5&3&3& RED o ghad Ta Sio

magnitude of the force is

E.‘.l

(8.07 +10.0 7) m/s. 5% o8 H6 8608 IEHH0sD eFol, s wo HBSFo,

Options: @
545 = ({/v

1. ) &%

N
8
2.
8 :}N
3
=,
1043 .
-
4
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A block of mass 10 kg. mnitially at rest. makes a downward motion on 45° inclined plane.
Then the distance travelled by the block after 2 seconds is

(Assume the coefficient of kinetic friction to be 0.3 and g =10 ms™)

ES550°8 10 kgife w8 &0, O dT°Hod’ God, 45° Tendoo d, ef’boy o)
BH08. wand, 2Edhe EHhad &) Wairdod Erdo,
(&2 Ho8e0 Mo 0.3 @, 56050 g=10 ms~ed ws%d)

Options:

.7\5111
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—=1

V2

-1{}\5 m &
3_ &

.S\Em
Z
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Conservative forces are defined as the forces for which.

werofy € §od vfmrer $ol T8I DodEE werem ASIOT.

Options:

Work done depends only on the initial and final positions.

SO 58050 &b TTV NS SED 2BAS B 6ErEHEs



Work done depends on the initial and final positions and also on the path taken.

20AS I, O, H6 JTOPD M BRKH) HPo DS Sree BTEHEB

Work done depends only on the path taken.
2OAS B SJES) BF0 IrFED LTEIES

Work done depends only on the initial position.
28RN D rﬁ"@iﬂméo‘:ﬁ SrER erEHad

Question Number : 89 Question Id : 7512364569 Question Type: MCQ Option u%g : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
A rocket motor consumes 100 kg of fuel per secon usting 1t with a speed of 5 kns.

., th
The speed of the rocket when 1ts mass is redt /% %0 of its initial mass. 1s
(Assume initial speed to be zero and ig@w’mﬂoml and viscous forces)

28 OB ol DES 100kge 3) DdSabo Bz, D Skm/s 568 D5%908.
Td &0 BigTast Yoo % LTS Sfretihd OB S8, 35,
(T 5& Hoam) 8DFQ, &&%@Eﬂ e 2ered G wlolod)

Options:

20 km/s

40 [n(2) ks
2

S n(20) km/s
3

10 /n(10) km/s
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Ball A of mass 50 gm and speed 10 m/s collides with ball B of mass 10 gm and speed 15 mv/s
travelling i opposite direction with each other. Determine the final speed of ball B if the

: PRIRSI.
coefficient of restitution is =

SEEY00 S50 HIS® Hoirediys) Do woden, (Sgo8 50 gm E8h 10 /s SEE &)
. : 2
wod A 1855073 10 gm 804 3& 151m/s & &&) w08 B oFolron. Hergdas sl =

Lond, o0& B Boog), S8 & HeBobod.
Options:

40
—I1VrSs

O
3 Q’\'
/\‘1/
g Q/
O

Sl 31/
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A solid sphere of mass 5 kg rolls on a plane surface. Find its kinetic energy at an instant
when its centre moves with speed 4 m/s

B5g0 Skg o o8 ST o ddde Gildoond THhd0d. |$H550°3 Sodhsn $&
4m/s & FORE) w8 B0 I T K8 ¥8 E8 08,

o (W]

Options:



4517
.
751
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1051
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A body of mass 0.3 kg hangs by a Spl]]]E with a force cm&ﬂﬁy)f 50 N/m. The amplitude

of oscillations is damped and 1eache5 o ofits DIK‘ Iue in about 100 oscillations.
If w and w'are the angular frequencies of undanq@u

then percentage of [ _MJ 1s @C)
@

pogorese 50 N/m fo @yorh G"St*é&&g @SgTrane wl %) Igrdodiod. & ST

damped oscillations respectively,

1
odHd H808 @B’Jd:)céo 5, 100 Foged” oo STOE JendHs o Sodrdy o

DEoBo0en0d. @é;’;cﬁog. SETeR] SoTe FHohH T Tge0 SHIT MBI 0 wownd,

(m—m
@

) FE0 DD,

Options:
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velocity from its surface is 8 x 10* m/s. then whabshould be the radius of the sphere?

If a planet of mass 6.4 x 10* kg can be compr ngltu a sphere such that the escape
(Let G=6.6 x 107" Nm” kg™) C)év

G5gome 6.4 x 107 kg e @ﬁ@ﬁﬁéaéao 00D Serahd 3o 8 x 10* m/s

GodoStor (TPAR) w8 Fdor H8LGRo DobodTrd, vowd & FEY Tgrddn Jod

&otnod? (G=6.6x 107" rj@—z@a 85§ 08)

Options:

40.4 km

20.4 km

6.8 km
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A horizontal aluminium rod of diameter 4 cm projects 6 cm from a wall. An object of
mass 400 r kg 1s suspended from the end of the rod. The shear modulus of aluminium is
3 % 10" N/m". The vertical deflection of the end of the rod is (Let g = 10 m/s%)

Trgddo0 4cm Ao wf §82 Sdrodd worgdodoio é% 2.€ P SooD) 6cm %1 PEHod.
& G 59 oD $H5078 400 kg Ho 28 S IorEbdT . vurgDleho G0,
DBrers (D8rBe0) Homvgo 3 x 1070 N/M’. ©aB o §§ £ 0B deod) BB5555»,
(g=10 m/s* @ &5 08)

Options:

0.01 mm
O
0.02 nun (\/QN
%
0.03 mm Q

0.04 mm Q/v

Question Number : 95 Question Id : 7512364575 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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A water tank kept on the ground has an orifice of 2 mm diameter on the vertical side. What
1s the minimum height of the water above the orifice for which the output flow of water is
found to be turbulent? (Assume g = 10 m/s”, P 10° kg/m’, viscosity = 1 centi poise)

Grdo B GodS A8 Lroft, T Jend IV S Fgdsn 2 mim fo So@hn wob. I8
TEYE Badro Dogono ©STIE, T SoTE P VBE GodS5ODS §IF I Jod?
(g=101/s", p, =10 kg/r’, s = | Do&Fonsd)

Options:

3cm



4 cm

5!
6 cm
3
2cm
4
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A copper ball of radius 3.0 mm falls in an oil tank of viscosity 1 kg/m-s. Then. the terminal
velocity of the copper ball will be (Density of oil = 1.5 x 10° kg/m’. Density of
Copper =9 * 10° kg/m’ and g = 10 n/s%) q

Y

?wﬁeﬁ 1 kg/m-s o S5°3 Lrgosod’s o5 @nm 3.0n 1% o 2208 D08, wond, orh
2088 Eenid B85 Ko (B3 Fogd = 1.5 x m’, oA Fogs =9 x 10° kg/m’

%6050 g =10 m/s%) Q/

Options: C)
18 x 1072 m/s @

1. @
25 x 1072 m/s &g

15 x 102 m/s

20 x 102 m/s
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The wavelength of the radiation emitted by a black body is 1 mm and the Wien’s constant
is 3 » 10~ m-K. Then the temperature of the black body will be

o8 6y S99 Smiod D86nY Sorgysie 1 mm Hdkn HS Fooso 3 x 10° mK
o8, R S8H BE), SIS,

Options:
K
8
30K
z.
300K

3000 K &‘\/
4. Q/
Question Number : 98 Question Id : 7512364578 Queﬂion@MCQ Option Shuffling : Yes Display Question Number : Yes
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A hot body placed in air cools do o a lower temperature. The rate of decrease of

temperature is proportional to ﬁ?)ﬂ ature difference from the surrounding. The body
loses 60% and 80% of ﬂlaxu 1 ieat it can loose in time ¢, and 7, respectively. The ratio

rzfrl will be :

TOS® SodS w8 3G 5 B8, S SAESH SowdBosd. SIMSS SHde i, K800
H0d o8 G NS BTVE eHT IrLFSoT Golwod. & S S5 FSHHOA {8
R0 60% So8aio 80% & Sdm £ 50800 1,5700d FTE0h. @i 1/l 5 &oa

1.4

€335

Options:

.fr.r(IO)
n(2)




In(6)
2.
h}'[ 4)
Fh‘r(3]
=,
n(5)
5
In| =
2
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Question Number : 99 Question Id : 7512364579 Question Type: MCQ Option Sh : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

A Carnot engine with efficiency n operates between @eat reservoirs with temperatures
T, and T, where T, > T,. If only T, 1is changed 1&4 “o. the change i efficiency is An,.

whereas if only T, is changed by 0.2%. the @%}C}f is changed by An,. The ratio %

@ T2
1s approximately :

e T, 28ciw T, e 306@@4‘91& S08g M SES Ko 5780500 PETdEnHBood,
266 T, > T, 04% oo TS Srsd 5003, SE66° 5oy AN, eirmé 0.2% oo

A
T, 8 SrEd S80S9, CE8E6° Srdy AN, wond ﬂ_m DG Sosrdom
- N2

Options:



+4
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An 1deal gas i a closed container 1s heated so that the final rms speed of the gas particles
increases by 2 times the mitial rms speed. If the mitial gas temperature is 27 °C. then the
final temperature of the ideal gas is

Sred FEST &) wf sBGT NI IEGVBISYHL, & Tk Segrw S 56, T §'O
s 588 3ok (2) By DEHOH0E. TSNH &0 GFES 27 °C vond, B8 TR0
G00), $B SIS

Options: q

1200 °C
1. &(1/

927 °C QQ/
: Q
827 °C Q/?~
3. &%

1473 °C
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Consider two tuning forks with natural frequency 250 Hz. One is moving away and another
1s moving towards a stationary observer at same speed. If the observer hears beats of frequency
5 Hz. then the speed of the tuning fork is (Given speed of sound wave 1s 350 m/s)

Qe Frdeydgoo 250 HZ Mo o @08 domods H8idotod. Afoom &) Hododd
5000 2,88 Srdorr SO, Todsd HoFTBE I ©B S&E $Os. FN:YPSgo S Hz ke
IdodTod H8Ivdeh D08, HeScdY 58, (Sanodo: KA ddony 56 350 m/s)

Options:
2.5 m/s
1.
3.5 m/s
. 9
5.0 m/s (l/
3 &
2.0m/s ()
4 $
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A drone fitted with siren 1s flyihg directly away from the drone operator and towards a
distant building at a speed of 15 m/s. The siren produces sound of frequency 780 Hz.
What is the frequency that the operator hears in the echo reflected from the building

[Speed of sound 1s 340 m/s]

RIS DAoTRES 28 FR, T REosd ol PEgiom drdormrds, dedorr )
FS5503YB 15 M/s SEE & 0. F&HSgo 780 HZ e £ D83 && 8 Bd0b.
FS550800D JorHddo ToB HESIN PEresed OF FDSgo Jog?

[GeQ 5& 340 m/s]

Options:

766 Hz



800 Hz

816 Hz

840 Hz
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A point object ‘O’ 1s placed on the axis of a cylindrical piece of glass of refractive index
1.6 as shown in the figure. One surface of the glass piece 1s @Onvex with radius of curvature
3 mm. The point appeared to be at 5 mm on the axis whefitwigwed along the axis and from
right side of convex surface. The distance of the poi ¢t from the convex surface 1s

HL0* SrLdinm, SELSS edo 1.6 fo @6 mardnd) (§L8o) Gwng) wiows
Dododrd 3HY ‘O o GodTd. & re a8 eO0gwo, JEe” Frgrgo 3 mm o
Boogrs do. S00ers Y wrdddwo Qg We) oD vEo IJob ﬁéoﬁé‘{;‘}&. & Do)
ool Smm 5§ e é?&g@u&/&ﬂ;@ 800050 GH8d00 S0od Hododrd H0D

&g, Sr8o,
Ve

e

~
J

Options:

4 mm

6 mm

3 mm



2.5 mm
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The limit of resolution of a telescope is 2.5 » 107 radians. If the telescope is used to
detect light of wavelength 500 nm coming from a star. the diameter of the objective lens
used by the telescope is:

a8 Sr88BR H)EE) Geo JBAS 2.5 X 10_?3&050@. 2.8 SEBo Sood) Iwndd 500 nm o
SSorPd gorie 5708 FHOUTAS & LrdtdI TEILWIB, & SriddNs 6 X

. O
Options: Q\,

244 cm &(1/

| 258 cm @OQ/
v

Bta&o J“géu*

5 Q/

. 228 cm &g
264 cm

4
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A non-conducting solid sphere has radius R and uniform charge density. A spherical cavity

of radms % is hollowed out of the sphere. The distance between center of sphere and

center of cavity is R/2 . If the charge of the sphere 1s Q after the creation of the cavity and

L

the magnitude of electric field at the center of the cavityis E = K ;
dme ,R°

] . determine

the approximate value of K

0.8 OIS HodA¥o Tgrgo R Doboihn 2868 Hgrdd Fost 0 wod. & Ko

$00 B/ opago o Aewd Seoy) hom 0056, 76 Sogobs, S8 Soprs

g srdo B Soo) 5008 shard v ddigmdio Q Sowin Fed Sogo 54

4ne R’

Options: Q//&
0.32
O

0.78 Q/v

: =)
DS §& “05rm0 E=K| —=— | wawd, K @@aﬁ:ﬁm Den s EofSol:
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A metal plate of thickness 2 mm and area 36 T cm” is slid into a parallel plate capacitor of
plate spacing 6 mm and area 36 t cm”. The metal plate is at a distance 3 mm from one of

the plates. What is the capacitance of this arrangement? [Let =9x10°Nm*C™ }

4ne,

Hof wodbo 6 mm dddin ITogo 36T cm? Ko H3ross Heo BFDLESIE, Sodo
2mm, SFego 36 T em? e ol STEY) Dok F2PATE. T o8 Hol Sod Immo
Brdods® @ &) Dol God. & ;Z)U‘:Jém R, Brody) Jod?

- Ox10° Nm’C 2 e &:0808
dne,

Options:

8 pF

20 pF
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For the circuit shown in the figure. calculate the resistance between the points A and B.

D80 ol S0oirs, odoPer ABdin B o iy 38 ) Hbodod.

Options:

05R

15R @
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If the resistances are chosen for the circuit shown in figure in such a way that no current
flows through the battery with emf E. the voltage V, across R, and the current I, flowing
through R, are respectively.

DL0" Gl Sooirdd, emfE, o wrgisd arior Jg@arirdn [Hrodsinm IS Tod
Johsand. R, gy S82V, Hdcke R, o700 @8l ddg@yaire Lo deoden
lebhelan

]
|

LM

<

(]
<|=
II
LA
MR
I
()
@]

Options:

Vy=—4V,L = %A O{(//&

.v;_, = BT, %A Q/v

Z.

V,=-3V,I,=1A
3.

V, =+3V.I, =2A
4.
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A semi circular loop of radius 30 cm wire carries current 6 A. An uniform magnetic field
0.5 T 1is present perpendicular to the plane of the loop. What is the magnitude of force
exerted on the wire.

Frgrdo 30 cmie ©f 58750 8 0rYHS”T 6 AJSgETT0 wob. vrY S8 oo
0.5 Teo 2868 woham od 8o wod. 8K $04 woo H8irm0
Options:

09N

18N
O

0.8N ‘\/Q\'

14N
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A dielectric circular disk of radius R carries a uniform surface charge density ¢. If it
rotates about its axis with angular velocity m. the magnetic field at the centre of disk 1s :

28 D&ogd AT GE JHors ¥ ag) agrdo R & Wl 868 do BT IY FoE O wod.
@8 §'Boh Jo 0 & &5 wFo Job (Fadod; eond HY oo I§ el od gigo

Options:

nomR?
2n



2
2
n,oonR’
4
3.
.pﬂﬁm R
22
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The earth’s magnetic field at the geometric poles 1s 10~ T . The magnitude of the
field at a point on earth’s surface where the rad&makes an angle 6 with the axis of
earth’s assumed magnetic dipole is 5 * 107°T, Qyna enitude of 6 in degrees is

O

g NS (oo ¢ Srds B0E), @@5@&6 Figo V40x107 T. echam,08 BooSom
TP 0NN drd wiod, TR Tgrgo o Do g O0Fwowd o wE Doy 38
&08 ©ohan) od B é&:ﬁrmc@ﬂ—fﬂ wond ‘0 H8dro dfiod’

Options:

30
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Consider a current in a circuit falls from 6.0 A to 1.0 A in 0.2 s. If an average emf of
150 V 1s induced by the circuit, then the self inductance of the circuit 1s:

2.8 Sodhod® JedgEyTro 6.0 Adood 1.0A 5 0.2 30 H&FE08. & Seodho (W8200S

driess emf 150 Veoond, Socho G, drolho(@d8die ded:

Options:
2H
1.
6 H
2.

O
4H Q\’
/\‘1/
8H QQ/
QD

Question Number : 113 Question Id ; 75123645 &)n Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Ori i@n : Vertical
A series LCR circuit with L ;%5 H and R = 10 € 1s connected to an ac supply with rms

q
voltage and frequency equal to 200 V and % Hz respectively. The magnitude of

capacitance is varied so that current amplitude in the circuit becomes maximum. The rms
voltage difference across the inductor is

L =05 H %0805 R=10 Q fo 2§ @ LCR Sod5rd), ms S8 8050 25:9850

15
&% 200V Sobosw % Hz o ac 65078 edodofrdo Buarh. Sodkhod’ Jdg@ars
Fol D808 K{BZHMSLRT BIHBY) D), H0Srerd) Srd)Th. (o Job <ol
s 5°ge o,

Options:



3000 V

2500V

2000V

2600V
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The magnetic field of an Electromagnetic wavﬁlﬁh& relation in a certain region 1s
B=10""sin(5 % 10°¢) T. where t is the time. Thétinthe induced emf. in a 300-turn coil of
area 20 cm” oriented perpendicular to the fi :

Dy E5oHA, 08 B0l ©a%RF),0d 3@’?; Fodos®, B=1077sin(5 x 10°1) T. So20md)
0308308, R0&S” 1570, Bt SFego 20 cm’ $OAS S8, & &8 vowor

DagBo SOR GRH9K, @}M)iés emf
Options:

DA T oS R 102 OV

3% 10°cos(5 x 10°H) V
2.

—25%x10%cos(5 x10°H)V



—33%x10%cos(5%10°HV
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The wavelength of a charged particle of mass 8 x 10! kg, charge 1.6 x10™° C and

kinetic energy 3 keV will be (Let h= 6.4 1} e £

S350m8 8 x 107 kg, dogerBdo 1.6 X107 C H00050 $82¥8 3 keV o DSog55°S53¢ Eea0
&8, 8808 g0, (h=64x 107 Is. mm &208"Sos0)
Options:

04 A

>
214 (1/

1.0A
; S
%3
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Let A, and A, be the longest wavelengths observed in the Paschen & Lyman series
respectively. Choose the correct option:

Fe0S 50050 TS FBos $080oted esged FEFS StonPages Ay 5oBasy A
w8 od, S80S 2YPEY aothafod:

Options:

4f:l—Pc:6

A
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A radioactive nucleus can decay i two differeu@esses with half'life 0.7 hr. and 0.3 hr.
The effective average life of the nucleus in nfnu€s approximately 1s (Let /n 2=0.7)

N

wf BOBrToE Sobo, vgEddse Wrﬁmm 50050 0.3 foteo Ko Dok D9
BEoHOS" FobBHdios. sond go{&éﬁ)&é& BerSE Siiew $D80, WErHT DTS,
(In2=0.7 22 &»80d) &

Options:

14

18

24
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Assertion (A) : Siand GaAs are the preferred materials for solar cells.

Reason (R) :  Both these materials have energy band gaps much below the energy level
corresponding to the maximum solar irradiance in the solar spectrum.

g (A) ! 28 Hobosreso S1H0cin GaAsen H3chH DT,
580 (R) : 3}'5;’;% S0 R ria;_;.; Faids ﬁﬁigéééﬁmé& ©30ErHI 5 @;o:;:;% < Dot
STrge 48 08 gl Trer §od ﬁ&oww@
The correct answer 1s (\/
DO HITEHBED A
(A) 1s correct but (R) 1s incorrect. @Q
1 (A) 585058 5 (R) $833058 :
- &
Both (A) and (R) are col‘fgn and (R) 1s the correct explanation of (A).
(A) 38050 (R)Todr $60082, (R) 0386 (A) B D838 Jddee.

Both (A) and (R) are correct but (R) 1s not the correct explanation of (A).
(A) 58050 (R)Bodr %8383, 572 (R) @38 (A) % HOG0d DS §°¢0.

Both (A) and (R) are incorrect.
(A) 58050 (R)Bodr HBSHD 5°9.
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The truth table of a logic gate is given below. Then identify the gate

w8 88 TorAs S8y DL Bod Rdcwbod. & &G ToT) BoNos?

Input Output
ANDE TEIE
A B Y
0 0 |
0 1 1
1 0 |
1 1 0
Options:
NOT gate
NOT & ¢&iSo0
1.
OR gate
OR g0
2
AND gate
AND mrqdon
2.
NAND gate
NAND @redson
4,
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A transmitting antenna has a height 20 m. What will be the height of receiving antenna, if

the maximum distance between them for satisfactory communication in line-of-sight (LOS)
mode 1s 40 km? (The earth radius 1s 6400 km)

a8 P olar) J& 20 m LOS 7l D08yl SodTs o8 Jody dodo Mdgorm
40 km ¢85y s soban) I8 Jod? (FErd argrdsn 6400 km)

Options:

25m

30m

O
60 m (\9'»

45 m @
4
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The maximum number of electrons that can have the set of quantum numbers n = 4,

m; = 0. and m, = 5 1s

1
570080 dopge B8 n=4, m;= 05008000 m = 5 e ﬁ&g}:{ Jm@;ﬁﬂ QLopg Jod?

Options:



Question Number : 122 Question Id ;: 7512364602 Question Type: MCQ Option ing: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical w

Which of the following pairs has the identical e(nl%lue?

A

§od mobiwed® BRI JSrd e/m Jend ﬁrt)gﬁ?
Options: @

An o-particle and deuterium i@

2.8 O - 820 So8odo &5%%0 wolre

A proton and neutron

28 @S 50050 SrgErS

An electron and y-rays
w8 Qf.’.:nia“-ﬁ S0803n Y- 8850
[=%]



A proton and deuterium ion
a8 (Pere Sobotn $ogiidtuio Baire

Question Number : 123 Question Id : 7512364603 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The reason for a cation to be smaller than its parent atom 1s

2.8 BLaSrdo TR 288 HESF00Y F0B DA™ Bodirds fo S8pH0 JDE3?
Options:

Repulsion between the electrons of outer orbit.
ety 85O Qﬂ:@;ﬁﬁn Sogg D88 S @
1 (\/Q

Increased electrostatic attraction betw %ﬁcleus and electrons.
So|ESL Sobasw ﬁm@:ﬁm S0 T 56 B8 DEMBO HY

Increase in the mass of il G@ﬂn compared to neutral atom.

St HESFHS’ FYB THSrS BSgTIS* DD S

Change in the number of protons of cation compared to neutral atom.

SLY BESrewYS FYB BLErS” [Firsw JSopgd® Srdy Sv

FeA

Question Number : 124 Question Id : 7512364604 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Arrange the following in the decreasing order of radius:
Bob T SrgArdaon 81 B0’ wsdiod.

P LG AR
Options:

Pragm il S AR S K S 0a
ClL =P 58 5 Ar> K™
Af P S5 T iy 2K (\9

e =Y A @

Question Number : 125 Question Id : 7512364 uestion Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Or} izn : Vertical

Which of the following compounds has the highest dipole moment (D)?

§ob JAFTrod® B wdghE Bys Ergdn (D) totwod?

Options:

HBr
1.

CH,COCH,

H.S

I



COoCl,

Question Number : 126 Question Id : 7512364606 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

. Match the following.

B0 TR 2ER80thHw.

List-1 List- 11
erdar -1 erfa - 11
(Hybridisation / 50€888052) (Compound/ion / £33 ¢do/e0s>3)
A) spd D [PCL]”
B) sp'd II) SF,
C) dsp ) BCl
D) dsp’ Iv) p€l
V), AJF,

The correct match is

OON 238

Options:
A B C D
v II I WX
18

5 AV \% I I
A B C D
II IV I I
3.
A B C D
I T A% A%
4

Question Number : 127 Question Id : 7512364607 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



The nitrogen gas pressure inside a container of volume 2.6 cm’ is 2.3 atm at 27°C. The
approximate number of moles of nitrogen present i the container is:

27°C 3¢, 2.6 I H059057m0 Ko FES' SRS arain wEdhw 2.3 atm. NBS® S0l
SWue Irdo dopg Sodrdom

[R=10.0821 L atm mol™ K]

Options:

4 x 107
1

25
2.

Question Number : 128 Question Id : 75123646 uestion Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option tation : Vertical

Which of the following statements 1s NOT correct regarding kinetic theory of gases?

TSNP vevdod VToedE Dowohod Bod JSEneS” I& SOGEHE TE?

Options:
Gases are considered as point masses

TrodnPon Dot (BhgorDHeT Lo dD.



Kinetic energy of gas molecules increases with temperature

TR W YO 8uIE G NSS” DEDHB0E.

Total energy of molecules before and after the collisions 1s different

w0 Indo ¥8, TETod S0od HBSN SHTE IHDIHM tolnod.

The distribution of molecular speed of a gas remains constant at a particular
temperature

28 ag;’& @INE 9g TTaiw Ire Dol Yo dotnod.

= (i
4, Q
Question Number : 129 Question Id : 7512364609 Question Type: MCQ %‘uuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

A spherical ball of radius 7 cm contains 56 w2 ‘/}Fmd out the number of moles of iron
present approximately in the ball? (d = 1.4 gen¥; atomic mass = 56 g mol )

7 cm srgrdo o HooEd 2088 3 0 80 B, 2085 ) 288 Irdy Dopg
Bodrdorr Jog? (d=14gem™; % b0 |$Sgo"8 =56 gmol™ )

Options: &%

15.1

20.1

Question Number : 130 Question Id : 7512364610 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



One third liter of x M K, Cr,0, 1s required to completely oxidize 2 L of 0. 1 M ferrous
ammonium sulphate m acid medium. What is x?

wioirdged” 2L o 0. 1 M s «dmodiho ﬁ@gé&:tﬁj Trom s§Edmo Mol
986" Jordddos x M K, (1,0, 38850, x Jog?

Options:
0.03
1
0.1
2
0.2
=3

0.5 &q’
4 Q/
Question Number : 131 Question Id : 7512364611 Qu&dio@u MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : VE

Enthalpy change for freezing o [ water at 1 bar and 0 °C 1s 334 J. Calculate the
internal energy change m J w g of water 1s converted into ice?

1 bar 508050 0 °C 58 1 g A8 ogikdo maothysd Jogdy Soeddy 334 1 1 g
Dom Sr08YE woddE S Srdy Jod 8§ owol?

Options:
205
s,
334
2
0



668

Question Number : 132 Question Id : 7512364612 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

" s . £ g
For a chemical reaction. the standard Gibbs energy change. AG  is —7.64 x10* T mol™.
What is the value of equilibrium constant (K)?

S)

P " P 4 % 2
o8 SFoDS Wy, Hire A 9§ S0y, AG Jend —7.64 X107 T mol™. Jdoeé

st

wTo80 (K) de08 Qoe?

Options:

K=1
1.

K>1
2.

K<1
=,

K=0
4,

Question Number : 133 Question Id : 7512364613 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Match the following.
808 B eEHShBw.

List-1/z=8e -1 List-11 /& -11
(Acid) / (es550) (K,)
OH
A) @ 0 1x1g*
COOH
B) @ 1) 3608-?0*
C) HClo ) 10> 10
D) CH,COOH C%/f} 6.5 x 107

Q/?“ ¥y L7151

The cormrect match 1s / ﬁgééég

Options:

A B C D
, I I 1 A%
A B C D
, 1l V II I
A B G D



Question Number : 134 Question Id : 7512364614 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The heat of combustion (kJ mol™) is highest for

Siresiho (kI mol ™) B8 edgeEsn?

Options:
H,(g)
H,(=)

1 -

H,(1)
H,(&)

2.

LPG
LPG

3
CH,(2)
CH,(=)

4.

Question Number : 135 Question Id : 7512364615 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What is the bonding nature in LiCl bond?

e

LiCl zs0806° 2208 Seerddn 267

Options:



Pure 1onic

HE ©SrIE

Pure covalent

HE dHoRrRDAH

Coordinate bond
28 éﬂgdﬁj 2xodo

Tonic and covalent O_)
So5rQE 536050 BHRredos Q’\r

4, &(l/

Question Number : 136 Question Id : 7512364616 Question Type'@Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical( ,

Which of the following statements is
Al reacts with dil HC1 to hiber
Al reacts with conc HNO é}lb

Boron reacts with Dﬂl@& to liberate H, gas
Anhydrous AICI, reacts With moisture to liberate H, gas

sorrect for group 13 elements?

, gas
iberate H, gas

oo

(D) 13 Sorososs Bod D58pos® I8/ HOGHB/H8GE?

a. 203 HCl&' Als8gsod Hyoraingd ddode Sandd

b. ¢ HNO,&' Al$56508 H,oraingd ddde Sosnik

c. wired Irgdh ol 3855708 H,arasndd deode Sohok
d. SR AlClL, 850¢° 83T08 Hyarddndd Jdode Todnd

Options:

1 b.c.d



& b.d

2,
a, C
2,
a
4,

Question Number : 137 Question Id : 7512364617 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If one wants to make methanol out of synthesis gas. what should be the ratio of the
gaseous components in the synthesis gas? q

5% K008 DESE gwaaméama‘.ﬁ&m RS ok THEPYE

5
I8 Jod? &

SleTals!
v
5 | @

3:1

Question Number : 138 Question Id : 7512364618 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



The irritant red haze in traffic and congested places is due to

BQM & o8 Polrm o', ados’ 8§80 ¢old RAETOS'H HENo EOHOT I

ovBdSoss 580

Options:
CO,
1.
0O,
3
SOy (oxides of sulphur)

SO (ﬁﬂgﬁ es8)&Ben )

NO, (ox1des of nitrogen)

A
NO, Q=S «8)few) QQ/
X N s @

Question Number : 139 Question Id : 75123646 (&)n Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Ori ion : Vertical

Identify the atoms or groups frﬁ:-&the following that exhibit —R effect and +R effect when
present on benzene ring:

Dok Jodho aHd R Perdo D0y R @erdo D88 ot S¥drmoie G2
RdarTeod Bod T8 Hod Hbowod.

~OR. -NHCOR. -CN, -X. -NO,. -NH,. >C=0

Options:

—R effect +R effect
—R @erdo +R o
-NHCOR. -NO, .:}C =0 —CN. -OR. -X, -NH,



—R effect +R effect

—R (SerS0 +R S io
~OR.-CN, -NO,. >C=0 ~-NHCOR. -X. -NH,
i
—R effect +R effect
—R (@erdo +R e iSo
_CN. -NO,. -NH, —OR.-NHCOR. X, )C =0
=
—R effect +R effect
—R (Begrdo +R P bo
N
—CN, -NO,, >C=0 -OR. -NHCQR, -X. -NH,

4, Q{»

Question Number : 140 Question Id : 7512364620 Question Type: MC O(p)(ﬁ Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A hydrocarbon with molecular formula C 4HQI%LED€5 the following reactions:
A. Decolourized molecular bromine. @

B. Reacted with HBr.
C. Addition of ozone and then ¢ ge of the ozonide by Zn/H,O gave the product
C,H.0, /@

w20 CH o a8 Tr@sdQ §ob S8gos” & otnod:

A @S wmoddo ddgo DHSG.

B. HBré& S8gdobdo.

C. &&'R& Jofodo Todm IHAS &8°36 Z/H,0 ddogos® 2&Faw CHO, S
RE.

Then. the structure of the hydrocarbon is

TIEEG0 T 0

Options:



\H\

CH,CH,C =CH

R &

Question Number : 141 Question Id : 7512364621 Question Ty&omion Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Ver%

The order of stability of below rescv-n e structures 1S
§ol TE'IN) oo Efﬁé& 533

@

C NH, NH

B & 4

C]

2

(1) (ID) (II1)
Options:

II

=
v
=
Y



& 0= 1

2|
= L =1
3
L. > 1L > 1l
4,

Question Number : 142 Question Id : 7512364622 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Match the following.

List-1 List - IT
A) ABCABC..layers ) F-céolyes
B) Thermodynamic Defects 1I) Q diffraction
C) Farbenzenter I{Iéi%caucy defects
D) Debye-Scherrer Method % Semu conductors
C% Silver
08 7B wHEHBB. @
erde -1 J erder - 11
A) ABCABC..2&>r8ew % I) F-Sogme
B) &dies e & ) X- 88wre J58S550
C) >6TcBoess (Farbenzenter) ) 9 &%
D) &z-2sd S80S V) BITTE 0
V) de i

The correct answer 1s
GBS SArIHw

Options:

A B &
V I I I

o



. W W |3
A B € D
vV o vV I
=
A B € Db
W @ T W
4,

Question Number : 143 Question 1d : 7512364623 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Calculate the depression in the freezing point of a solution containing 0.1 g of 'K3 [Fe(CN); ]

in 100 g of H,0? (molecular weight of K, [Fe(CN)s] =329:K, = 1.86 K kg mol™)

100g © HO & 0.1 go K;3[Fe(CN)4| do @508 $I558 &5 50850 88 0u0d.

(K3 [Fe(CN)g ] eemverdio = 329, K, = 1.86 K kg Yol ™)

Options:
0
1.
1.223
2.
0.0226
3.
0.226
4

Question Number : 144 Question Id : 7512364624 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



A solution of 17.1 w% of sucrose (molar mass = 342 g mol™) is isotonic with a x W%
solution of oxalic acid (molar mass = 90 g mol™). Assume the degree of dissociation of
oxalic acid as 0.01. What is x?

17.1 w% &r§& (Sorerd wen (G503 =342 g mol™) @Hekn, x W% w508 el
(BrerS weo $Bg502 90 gmol) EB20508° HFETIST &H)0. ©5OF vl ISred
@38 0.0] e «oF0080. xJod?

Options:

4.41

0.90 @
4,

Question Number : 145 Question Id : 7512364 uestion Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Oréentatign : Vertical
Consider the systems having liquid-solid interface. (a) copper wire in silver nitrate solution
and (b) silver wire in copper sulphate solution.
Predict which mterface will show spontaneous reaction if
E

cu?ticu

=0.34V and EAg+Mg=0.SDV?

G5-208 @odl dodnen o Sgdpods H83doWod, (a) vegd IBE E'H0p0s” 5708 &
S8asxn (b) 5758 éﬁ&&f 0" Deogd 4.

o

=0.34V Sobcso Ey v/,

f o
S
Cu" /Cu

@ o885 S0k @oﬁ’ué&é&é TP WrPHPod Getrotod?

=0.80V @03

Options:



Copper - Silver nitrate interface
5°58-0e18 IBE woss Sedn.

Silver - Copper sulphate interface

oe05-5736 ﬁ@q}ﬁﬁ wosdd Sedw.

There will be no spontaneous reaction
SoHEE)S W8y 2.

Both interfaces will give spontaneous reaction ()_)
Dot ©0E Soswes SoHBENE SS5ITow. Y

4, Q//&(l/
@

Question Number : 146 Question Id : 7512364626 Question T CQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertic

The decomposition of O, (g) foliow&f%ﬁrdep kinetics and 1s given by:
0,{(g)—>0,(+0(@

The rate constant for this re @ is 1.0<10~ s7!. The initial pressure of O, (g) 1s
100 atm. What will be the parwal pressure (in atm) of O,. O,. O respectively after
38.38 minutes?

0, () DRrHS0 I8 ESr08 KBETTY) FEK08 8ok ol asadod.
0, (@) —>0,(=)+0 ()

& ¥ Bew porokdno 1.0x107 s7. O, (=) £°0 H&sseo 100 atm. 38.38 min Sbas
0;. 0,. O o 8 bkzren (am &%) SHIT Jod?

Options:

95.5.5



10.90.0

z.
10. 90. 90
3.
10. 0. 90
4.

Question Number : 147 Question Id : 7512364627 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Identify the correct statements from the following.
a. A closed vessel containing 90% CO, and 10% O, is an aerosol.

b.  Milk is an emulsion. q

c.  Smoke is an aerosol. '»

d.  Peptisation is a method of purification of ¢ 1 solution.

e.  Ultrafilteration is a method of pm‘iﬁcatioﬁ\of colloidal solution.

Boh T8S” HVGE DdBeod Mo C)

a. 28 S & FES” 90% C a5 10% O, eamo. 28 2.8 Jon&ard.
b. Jeoaf JDos.

C. arf w8 Jondrd. @

d.  HR¥dndn, Forond @Ehodng DYV 2.8 HES.

e.  &rE) APossw, Ferond (ESnsnd HEBeH &E 3¢8.

Options:
a: B e



3. b ¢

Question Number : 148 Question Id : 7512364628 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Statement (A) : Mg can reduce ALO, above 1350° C.
Statement (B) : Al can reduce MgO below 1350° C.

D56 (A):  1350° C §oB 89,8 wirs 5¢ ALO, S Mg gahsdmo mdouhs.
256 (B):  1350° C 0B 85,8 s 58 MgO % Algosstmo mdomhi.

The correct answer is

O

QBTS JSJrTddw
QY

Options: (\/

Both (A) and (B) are wrong.

A
(A) 508050 (B) 00 90605 ). QQ/
3 @

(A) is correct. but (B) is wror v
(A) 565056 52 (B) m@ 0.
2.

(A) is wrong, but (B) is correct.
(A) 505058 5780 57 (B) Sog0da.

Both (A) and (B) are correct.
(A) So8ciw (B) o 385305,

Question Number : 149 Question Id : 7512364629 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



. Match the following / (§o& T7¢Q 228B8¢85%0.

List-1/zag -1 List-1I /e - 11

Acid/ Reagents used for preparation /

es520 SasrSoiicint i GHAFNo 585D
A) H,PO, I) RedP,+alkali

JE P, teeo

Bl HPO, II) White Pt alkali
8o P @@27@

C) H,PO, 1) PCl,:H,PO,

D) H,P,0, IV) P,O;: b@
Q

The correct answer 1s Q/
éga’: PSRt S L) @C)
Options:

A B C
. I I

A B C
, I IV 1

A B

!

Question Number : 150 Question Id : 7512364630 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



XeF, is square planar while XeF  has a distorted octahedral structure. What is the correct
explanation for this observation?

XeF,d%de S50 v XeF Ddrdmo Bobd @‘:ﬁs'mé}o:b QT7EarQ) O €000,
& HoIOHB HOFS VB8 IB?

Options:

Both molecules have one lone pair of electrons.

Tod ©muos &8 wobl JoFe vl wamu.

Both molecules have two lone pairs of electrons.

Toly @)oo otk wotld aﬂ:g.ﬁ 2800 GT)RD:

2 (\/Q

XeF, does not have any lone pair of elec @XeFﬁ has one lone pair of electrons
on Xe.

XeF, % 2080 J&:@E 2081 8; ]@“ Xe o8 aowbd 3&:@;5 220é) Eedd.

=3 @
XeF, has two lone pairs of &gl%ns on Xe: XeF has one lone pair of electrons on
Xe.
XeF, " Xe™» Todh 2,080 J&:@"E aden Soi); XeF o' Xe o8 eobd JGLE;5

2é Sedd.

Question Number : 151 Question Id : 7512364631 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Match the following.
List-1

A) Oxudation state of Vin ‘ﬁ.a"OlCl2

B) Number of unpaired electrons in MnO 42_ on
C) Number of unpaired electrons in [NiCl 4]3‘ 10n

D) This oxidation state is exhibited by all lanthanide ions

Bo& & adHdidw.

erfar -1

A) VOCL&® VesEdem 28

B) 1\«1'_11042_ VIrIS" 2ol JoFIe Dopg q
C) [NiC14]2_ ©oireesSt 2,088 Jﬂﬁ:ﬁﬂ Dopg Q\'
D) & u5Edm 28I ©i) orodI& @oﬁ:ﬂﬁ%}%mﬁam

The correct answer 1s

$BS BBrEES

Options:
A B &
Vv II VI

A B C

VI I A%

&
N
s
,%?

IV

-

I)
1y
111)
IV)
V)
VD)

I)
1)
1I)
V)
V)
VD

List-11

0 SR =S 1% S R SR o

erfar- 11

n

[ T =S TS |



Question Number : 152 Question Id : 7512364632 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The name of the compound .([Ag(NH3 )J [Ag(CN]J) i3

([Ag( NH,), | [Ag(CN), ]) so0g) %5

Options:
dicyanoargentate (I) diammino (I) silver.
3200 S’ egoBd (I) Bes® (I) degsd

diamino silver dicyanate ,\O/.)
QO

3OS’ ?ﬁﬂogg @&0503&5 (1/

diammine silver (I) dicyanoargentate (
@Eﬁbﬁ ?JEDSE (D s @'@Lﬁ@f

3 J
silver diamminedicyano )&E%tate
veed 3o 8 rslov ey @-@u@ﬂn‘f

Question Number : 153 Question Id : 7512364633 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Match the following.

List-1 List - II
A) -fC Hlyi= (f =CH-CH, +, I) Cross-linked network
Cl
B) Nylon6. 6 II) Elastomer
C) HDP III) Fibre
D) Melamine-formaldehyde IV) Ziegler-Natta Catalyst

808 B EHEEID

erder -1 erder - 11
A) {cH, -GG D S58Ryuoros’ eds
Cl Q
B) 3¢°56.6 D&(ywsb;a’:og
C) HDP QZJ Feko
D) HoPS-Fogws @Qm Bi6-Trer & Byséo

The correct answer 1s Q/

Q0 DATErHHw &
Options:
A B C D
IV II1 II I
1.
A C D

= »
=g-"
— 0
2 -



Question Number : 154 Question Id : 7512364634 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Among the following B group vitamins. the deficiency of which one results in convulsions.

8o& Biird Jbses® BaS Ho Sl Swod &io fanrado

Options:
Bﬁ
1.
Blz
2 ,S)
. v

Question Number : 155 Question Id : 7512364635 (%(on Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Ori ion : Vertical

. Methacetin (4-meth01y—acé&ulide) Wi OPRE,

WFRBE (4-2T°8) IVErIBE) DI .cvvve. 0080

Options:
An antipyretic
250°Q) $how (antipyretic)

Narcotic

;?5"3&55



An antiseptic
oS0t DD
2

Disinfectant

B HoH0ed

Question Number : 156 Question Id : 7512364636 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

. Identify the correct order of reactivity of the following haloarenes on treatment with
NaOH?

§ob FS'Absed NaOH & gy 20bs8E" 578 88308 @ﬂé Bt Hlokod?

QO
Cl i | Cl &(1/ Cl

O.N NO, NO

2 ¥ 2

NO,

NO, NO,

NO

Q/V
(a) (c) (d)

(b)
A

£ >3 5d >3

Options:



Question Number : 157 Question Id : 7512364637 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In the following reaction. the major products are

Bob $E5S” DErS T

- N

o

Options:

N C
SN
. UCHJ OH
g

Question Number : 158 Question Id ;: 7512364638 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Identify the method that gives benzyl alcohol?

BoBS o) FFSH 93 P8 MBoHod?

= L

Options:

1) Cr0,CL.CS, _
2) H,0*

3
1.
o - H,
Pd-BaSO,

%

O
N
S

H
A
HO  Conc.NaOH OQ/

() 2 ; @
&
K

CO.HCl

Anhyd.AICL, /CuCl
(Rge)

2

G

o
5
~
J

Question Number : 159 Question Id : 7512364639 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Statement (A) :

Statement (B) :

Carboxylic acid can be obtained by the reaction of R—C = N with

® ; . g
H,O under mild reaction conditions.

e
Hydrolysis of R—C =N in alkaline aqueous medium gives R — COONa

and NH, as products.

®
R-C=N& H;0 & Soy538 Soog $0R8S° $8g 2693 son§of

DS8e (A):
300 bégcéoé’a:;.
. e e
D58 (B) : R-C=NH 50 zodrdfod” zodidom Wy R-COONa £odoin
NH3 00 T AR08. @
The correct answer is (19

HOTS HIPGEBD

Options:

A
&

Both (A) and (B) are correct. $

(A). (B)Bodo $8GH. <</

&2

Both (A) and (B) are not correct.
(A). (B)Bodkr 583338 5°9.

(A) 1s correct. but (B) 1s not correct.

(A) 5853058, 52 (B) 603086 560,

(A) 1s not correct but (B) 1s correct.

(A) 585056 576, 59 (B) $0G056.
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Benzaldehyde can be converted to benzonitrile by treatment with

BAS/IBE GG BowrdTad BoSJBPST SrdySiyd?

Options:

NH,

NH, followed by reaction with C . H.SO,Cl
NH, &, gsod0 CH.SO,Cl&® @sg

O

NH,OH followed by reaction with acetic anhy 'E/
NH,OH &, 8656 208§ 25@ss wsg, |/
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